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1-003031-L0 PE470-7N Test chart G with 1080 colours; 9 or 16 step colou.r scales; data in column (@b_j+k26_n27), 000n (k), w (I), nnn0 (m), www (n) + cmyO(all)
TUB-test chart PE47; standard test chart input: rgb/cmyk —> rgb/cmyk
1080 standard colours; image technology output: no change
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1-003131-L0 PE470-70
TUB-test chart PE47; standard test chart input: rgb/cmyk —> rghy
1080 standard colours, 3D=0, dezftny0
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PE470-70 Test chart G with 1080 colours; 9 or 16 step colour scales; data in column (gb-A-n)..

TUB-test chart PE47; standard test chart input: rgb/cmyk —> rghy

1080 standard colours, 3D=0, desthy0 output: transfer tamyQ
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PE470-70 Test chart G with 1080 colours; 9 or 16 step colour scales; data in column (gb-A-n)..

TUB-test chart PE47; standard test chart input: rgb/cmyk —> rghy

1080 standard colours, 3D=0, desthy0 output: transfer tamyQ
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PE470-70 Test chart G with 1080 colours; 9 or 16 step colour scales; data in column (gb-A-n)..

TUB-test chart PE47; standard test chart input: rgb/cmyk —> rghy

1080 standard colours, 3D=0, desthy0 output: transfer tamyQ
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